EARAROBEEIERT — 2 N— IBISH —F

2018527120 (B) 1EIFR=6H

BLY v >73m *B7 U5l B

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
HA A 4 3 %%*615 1:(2_7).2 12-12 | 37.0| 88.1 | 3 ;1:;24) j}ﬁ\gﬁgﬁ ES5)
x40 By RYaiER2— KBS
— e 4t 3 | FlREX 1:27.3 1-1 38.4( 8.9 | 2 480 | =tERE ()
TATINETF 54.0 (1/2) () | TATLARTTT (@)
L:wy)EdvEk B:T7AVIELT AR
. _ ARIBHIIR :28. = . . YRERE ()
55—~ i 3 R 1 (248) 0 3-3 38.6| 8.0 9 (4_8:) g (73)
RTFRATLH— Bih—2T4 bNT— LYY T 7 — L
o 3 HPR&E : — BmEZ (E#)
L7 /85— K 3 2 1(52/%1 5-5 38.5| 80.1 | 1 <5+220) N
LY Ls4N—t B:F1T7LAT B Hx
-5 H o3 | EHEEER 1:28.1 5-5 38.6| 80.1 | 10 | 432 |LXHERR &)
5714/ FL/%=7 56.0 (5¥) (+o8) | MR
R:7VA—v B:709<% Eld=: |
Sy = 4t 3 | SEXH 1:28.2 10-10  [38.2] 79.2 | 5 466 | M EE5A (i)
68|15/ 77 ¥F>7T 54.0 1/2) 4y | @O FS5TLyKT5T 5747
XN=Z—k21—X B:Ea—FT1471XEb NzEEse)
_ 43 | NS 1:28.5 3-3 39.2| 76.3 | 4 492 | EFEH (EH)
7(T(18 7/ %Y 56.0 (1 3/4) 0 |HESE
LN—=HNE B X3S I)a— =R E%E
— = . 43 | MLk 1:28.9 13-13 [ 38.4| 73.1 | 7 500 | BAREE (EH)
8 7| TATLANZ=X 56.0 (2 1/2) (+18) e
RNZ—ka1—-X B:ILT+T—I L EFRBERS
AN 3 | IHEES :28.9 13-13 | 38.5| 73.1 | 15 | 450 |KILEE (E#)
9|5/10| K7~ 56.0 () (4 | BBER
:7v3I7—L B:FTNE- FR=F 77— L
s = S AHEE :29. - . . SIEXHE (Eim)
R BT # 2 | g it R L R R B
R:TUHA R R B:T—h BRI
A, = e — 43 | BOAIEM 1:29.3 7-7 39.5| 69.8 | 11 468 | FAEEME (E/8)
111816 FINTy RZ 56.0 (1 3/4) () |BA=iE
R:Z2v—hOE>Y B:JL>FIvy BA Bk
0= . ft 3 | BEHEA 1:29.5 7-9 39.6 | 68.2 | 12 | 450 |fEEESES ()
EHQ ey e e we) | HHEEE
L:vayrrhr7 BLUI-L e ]
> . 4 3 | BUERHE 1:29.9 10-10 39.8| 65.1 | 14 482 | REEZA] ()
13/5/ 9| Y r A b7x v 2 [B] A51.0 2 1/2) -12) ) 57 2K b
LI INATA—h— B:Z2O0-TF vy X peleie]
“ FF RIS KRR :29. — . . 25B— (ER)
1 NEEVE e it 3 it (/35;3) 2-2 40.8 | 66.0 | 13 (4_5;4) %gﬁﬁ
8= MVERII B:YIN—Fy TR HE77—L
c= 3 | SHER 1:30.0 7-7 40.2| 64.7 | 6 470 | NEfmsL (GEiA)
15/ 1] 1| F7T K= 56.0 (7) Lo |mEEA
L2 bOYTUE—> BiHLI/H3T HREAHIS
— - HIBEAN : — K5 ()
N - BIE A it 3 o 1.(371).1 15-16 | 40.1 | 56.0 | 16 ;1_3:) 5%2’%%
Z:2kA>g)E-> B:Fval)7 T7=—blVT7—L
@ 71 L
) 51.0-38.3
NA>ZA L | 12.7-11.4-12.1-12.7-12.8-12.4-13 .1
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= 6,8(2,13) (4,14) (1,12,16) (9,15)3(7,10)-(11,5)
40—+— |6,8(2,13) (4,14) (1,16)12(9,15)3(7,10)5-11
[ N3
BB 3 430M 714K 3-6 400M e E 2-3 320M JEHE 2-3-6 8,620
8 B 3 170 2=3) 2,280H B = 3-6 830M B 3-6-2 37,400
6 160 2-6 2,150 | | B 3-6 1,760
2 770H

ABICOVWTRDTEEERROODE. TR LIV,




